Congruent Triangles 11 — Congruent Triangle Proofs 3 4.11

Given: 212 /2 B
23274
. 3 1
Prove: AB = AD A 1 5 C
D
STATEMENTS REASONS
£1 = /2 1.
23 =24 2.
AC = AC 3.
AABC = £ADC 4.
AB =~ AD 5. Corresponding parts of = As are ==

Given: £A and 4D are right angles
C is midpoint of AD

Prove: BC=CE
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REASONS

. 2A and 2D are right angles
C is midpoint of AD
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Congruent Triangles 12 — Congruent Triangle Proofs 4

Given: AB = DC
AD =~ BC

Prove: AB || DC

STATEMENTS REASONS
1. Given
2. Given
3. BD=BD
4. AABD = ACDB
5. £l=rz2
6. AB | DC
8. Given: AD 1 BC

D is midpoint of CB
Prove: AD is angle bisector of ZCAB
B

STATEMENTS REASONS
1. AD 1 BC o

D is midpoint of CB
2. £1 and £2 are right £s
3 CDx~DB
4. AD = AD
5.
6.
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